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Math 160 Sept 19, 2019
Name: K 6‘04/ /20 pts
Show all work for full credit. (each problem is worth 4 pomts) oy 3
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1. Suppose yotrset up a new IRA (indlvu}ﬂ AP 2 Suppose you w ur son lege fun n= /2
retirement accouht) that pays an APR of 5.1%, contain,$150,00 after 15 yea:iﬁllf)jma% an
compggd_ed_rgq,_thly. If you contribute $150 per APR of 4.3%, compounded monthly, how much

month for 15 years, how much will the IRA‘gontain should you deposit at the end of each month?
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3. Consider a student loan of $42,000 with an APR of 5% for 10 wajﬂfl’l'n’ ;77 ?L S’D
a) Find the moMnt TID Ag‘a 0S 4 b) Fm;ﬁ:hé total amount ‘paid on the lo M
0,05 “/—"""*”———"
g - e N o4t 2 T
? 0.0 ~0)(10) pMT' T LL/’/' . = x\/ -14? Y
gcr!
\o(l*/’ 12 ,,o,w?lu, 20 g
T S — 2% T~
o= — 1= 53"! 7 >
F M 0:39282..-
PNTRUYYS, ET T

wlf
5o e moathly ) it peovld L)( dyys vy & $§34§7/60 ﬁap

/c)ﬁln\the percent of the total amount that went to d) Find the percent of the total amount t at went to?
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4. Suppose you have a balance of $6400 on your credit card, which charges an APR of 24%.
e that you charge no additional expenses to the card, and you want to pay off the balance in
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a) Find your monthly payment /ébmthe total amount paid / P
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c) What is the total amount of interest you will end up pay1ng7
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5. Compare the monthly payment and total payment for the following pairs of loan options.
Assume that both loans are fixed rate and have the same closing costs. Discuss the pros and cons

of each loan.

optond  Youneeda $400,000 loan. / - @ 7237
4 2 Option 1: a 30-year loan at an APR of 8% [ S j 075

30 5v$ @ : Option 2: a 15-year loan at an APR of 7.5% £/ 000 .Qg”)
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